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Relations of Operating Cost and Load Distribution of Aerobic Techniques
& Anaerobic Techniques in the Treatment of Alcoholic Wastewater

HAN Xiang-bing WANG Jie—hui and LEI Yan-lu
No.13 Bocheng 6 Road Boxing Shandong 256500 China

Abstract  Aerobic techniques and anaerobic techniques were main techniques in the treatment of the wastewater in alcohol distillery.
The load distribution proportion of the two kinds of techniques had direct effects on economic profits of wastewater treatment. Larger
load distribution of anaerobic techniques led to lower operating cost and investment and higher economic profits. For instance anaero-
bic fermentation could produce 0.4844 million RMB profits in the treatment of 10 000 tons of alcoholic wastewater — however  0.3873
million RMB investment was required annually if the wastewater treated by aerobic techniques. Tran. by YUE Yang
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